modp

modp
f(X) modp p

f(X) = aX"+a X"+ + a1 X+ an

g(x) = boX" + b X" + .-+ b1 x + by

ag=bo, ay=by, ---, ay=b, (mod p)

f(X) 9(x) modp f(X) = g(x) (mod p)
f(x) = 0(mod p) £(x) D

f1(x) = f2(X), 91(X) = g2(X) (mod p)
f1(X) £ 91(¥) = f2(X) £ g2(X), F2(X)91(X) = f2(X)g2(X) (mod p)

f(X) = apX" + a; X" + .- + a1 X + 4, ap £ 0(mod p) f(x) modp
n
f(X) = aX"+a X"+ + a1 X+ a,
g(x) = box™ + by X™ + -+ + by X+ by
n m
f()a(X) = aoboX™™ + (aghy + arho)X™™* + - - - + &by,
p ag#0, by =0 (mod p) aghy # 0(mod p) f(X)g(x)
modp n+m
1
[f(x)g(x) = 0(mod p) f(X) = 0(mod p) g(x) = 0(mod p) ]
f(X) £ 0(mod p) g(x) £ 0(mod p) f(x), 9(x)
modp O f(X)g(x) modp O f(X)g(x) =

0(mod p) |



modp 2

f(¥)a(x) = f(¥)h(X) (mod p) f(x) # 0(mod p) 9(x) =
h(x) (mod p)
- modp ~
f(x), a(x) g(X) modp n
f(X) = g(X)h(X) +r(x) (mod p)
r(x) modp n-1 h(x), r(x)
modp
J
g(X) = apX"+ar X"t + .- +ap1X+an, agz0 p a p
agh = 1 (mod p) b

01(X) = X" + bay X" + - - - + ba,_1X + ba,
01(X) 1

bg(x) = bagx" + ba;x™ + - - - + ba,_1X + ba,

X"+ bay; X"t + - -« + ba,_1X + ba,
= 01(X)

9(¥) = g1(x) (mod p)

g1(X) 1 f) 9
h(x) r(x) I (X) n-1
modp r(x) n-1

f(X) = g2.(¥)h(x) +r(x)
modp g(x) = g1(x) (mod p)

f(x) = g(X)h(xX) +r(x) (mod p)

f(¥) = g(x¥)hy(x) + r1(x) (mod p)
f(¥) = g(x)hz(x) +r2(x)  (mod p)




modp

g(x) (h1(X) — h2(X)) = ra(x) = ra(x)

hy(X) — hy(x) £ 0 modp
modp n-1
hi(X) = hy(x) (mod p) r1(x) = rz(x) (mod p)
u
modp modp

(1) X2 +1=(x-2)(x+2) (mod 5)

(2) X2+ 1= (x-5)(x+5) (mod 13)

(3) mod7 X2+ 1

X f(X) = 0(mod p) modp
f(X) = 0(mod p) f(X) = xP-x

(1) x=0(mod p) f(X) = 0(mod p)

(2) x# 0(mod p) Fermat xP~1 = 1(mod p)
0 (mod p)
X f(x) = 0(mod p)
0(mod p)

f(X) = 0(mod p)

£(x)

f(X) = (x—a)h(x)+r (mod p)

r X—a modp
r = f(a) (mod p) mod p
f(a) = 0(mod p)

£(%)

f(x) = x(xp‘1 - 1)

f(x) £

f(X) = 0(mod p)

X_

a



modp
Wilson f(x)=xP1-1 x=12 -,
xP1 = 1(mod p)
fH=f@)=---=f(p—-1)=0 (mod p)
mod p
2)---(x=(p-1))

Xt -1=(x-1)(x-2)---(x-(p-1) (mod p)
x=0

-1=(-D(-2---(-(p-1) (mod p)

)P (p-1!=-1 (mod p)

p-1 Fermat

xPt_1  (x=1(x-

p -n)Pi=1 (p-1)! = -1(mod p)

p=2 -1=1(mod2)

p (p-D!'=-1 (mod p)

Wilson

m

(m-1)! -1 (mod m)

p m m= pq
(m-1)! = -1 (mod m)

(m=-D!'=-1+mt=-1+ pqt
(m-1)! p

O=(m-1)!=-1+pgt=-1 (mod p)

0= -1(mod p)

p<m-1



